Center #1 — Display the data in a dot plot. Identify any clusters, peaks or gaps in the data.

Center #2 — Find and interpret the mean absolute deviation of the data. Round your answer to
the nearest tenth if necessary.
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Center #3 — Find the mean, median, mode, and range of the data.
1) 8,8,6,8,2,4,6 2) 24,74, 61, 29, 38, 27, 68, 54



Center #4 — Find the Interquartile Range of the data and describe any that are outliers.
1) 28, 46, 25, 75, 18, 25, 47, 113, 44 2) 14, 25, 97,55, 66, 52,72, 52,74, 98

Center #5 - Find and interpret the mean absolute deviation of the data. Round your answer to
the nearest tenth if necessary.

130 | 150 | 190 | 100 | 175 |
120 | 165 | 140 | 180 | 190 !

Center #6
Johnny and Barry are at the batting cages and hitting groups of 10 balls. Here’s how many they hit each time.
Johnny -3, 2,5,7,3 Barry-38,3,9, 8, 2

Find the mean absolute deviation to find out who was more consistent.



Center #1 — Display the data in a dot plot. Identify any clusters, peaks or gaps in the data.
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Center #2 - Find and interpret the mean absolute deviation of the data. Round your answer to
the nearest tenth if necessary.
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Center #3 — Find the mean, median, and mode of the data.
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Center #4 — Find the Interquartile Range of the data and describe any that are outliers.
1) 28, 46, 25, 75, 18, 25,47, 113, 44 2) 14, 25, 97, 55, 66, 52, 72,52, 74,98
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Center #5 - Find and interpret the mean absolute deviation of the data. Round your answer to
the nearest tenth if necessary.
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Center #6
Johnny and Barry are at the batting cages and hitting groups of 10 balls. Here’s how many they hit each time.

Johnny-3,2,5,7,3 Barry-8,3,9,8,2
Fwd tb\e mean absquJ\e deviation to find out who was more consistent. -
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